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JIB4Z K % ouT IN TOTAL HDCP NET OUT NET
1 = = 48 43 91 22 69 37.0
2 H S ZE — 48 49 97 26 71 35.0
3 Z M ¥ F 45 43 88 17 71 36.5
4 T N ES 44 42 86 15 71 36.5
5 E N B = 46 40 86 15 71 38.5
X _ IS AE
[:%iva K % ouT IN TOT HC NET OUT NET [1=¢iva K % ouT IN TOT HC NET OUT NET
6 K H B 46 49 95 23 72 34.5 21 &H X SAMA 54 53 107 26 81 41.0
7 S=HEABE 42 45 87 15 72 34.5 22 ©HH¥E 56 56 112 30 82 41.0
8 MA #3 44 46 90 18 72 35.0 23 B h {£78 54 48 102 19 83 44.5
9 =18 Em 49 47 96 23 73 37.5 24 {tERAKIME 49 53 102 16 86 41.0
10 B3 R4 48 49 97 23 74 36.5 25 LY H BHE 56 57 113 25 88 43.5
11 BEAREKAXE 50 50 100 26 74 37.0 26 AJIl B8 57 51 108 18 90 48.0
12 ® & & 48 45 93 19 74 38.5 27 SIF &%= 58 53 111 20 91 48.0
13 H#MH 3.— 49 57 106 30 76 34.0 28 7 # ¥ 55 67 122 30 92 40.0
14 FHAHBHHEX 48 46 94 18 76 39.0
15 {R B BXx 46 40 8 10 76 41.0 XEINETOIZS -+ © OUT NET
16 &K —3%k 55 48 103 25 78 42.5 QE £ AHAH
17 PIE #F 52 48 100 21 79 41.5
18 ER B4 52 47 99 20 79 42.0
19 BA FF 55 49 104 25 79 42.5
20 TFEE=EMX 44 47 91 10 81 39.0
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